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h. Suppose Nellie now pushes upward on the
apple with a force of 2 N. The apple (is still in
equilibrium) (accelerates upward), and
compared to W, the magnitude of n is (the
same) (twice) (not the same, and not twice). i.
Once the apple leaves Nellie’ s hand, n is (zero)
(still twice the magnitude of W), and the net

charge through a single resistor of 2 Q . According to
Ohm’ slaw, the current in the resistor (and
therefore in the whole circuit) is A. 2. If a second
identical lamp is added, as on the left, the 6-V battery
must push charge through a total resistance of Q .
The current in the circuit is then A. 3.
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